Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name: Transportation Engineering
Subject Code: 2TEO4TRE1 Branch: Diploma (Civil)
Semester: 4 Date: 24/04/2019 Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a) Bottom most layer of the pavement is known as 1
(@) Wearing course (b) Base course (c) Subgrade (d) Sub Base course
b) The shape of the camber, best suited for cement concrete pavement, is 1
(a) straight line (b) parabolic (c) elliptical (d) combination of straight and
elliptical
c) Camber in the road is provided for 1

(a) effective drainage (b) counter acting the centrifugal force (c) having
proper sight distance (d) none of the above
d) Flexible pavement distributed wheel load 1
(a) directly to subgrade (b) through structural action (c) through a set of
layer to subgrade (d) none of the above

e) Which of the following is indicate by a warning sign 1
(@) level crossing (b) no parking (c) end of speed limit (d) overtaking
prohibited

f) Deficiency in rigid pavement is... 1
(@) mud pumping (b) ruts (c) map cracking (d) reflection crack

g) Give the name of bridge as shown in figure 1

(a) continuous bridge (b) cantilever bridge (c) balance cantilever bridge
(d) high level causeway

h) Rise in water level on upstream side is known as 1
(@) free board (b) afflux (c) vertical clearance (d) water way
i)  Which one of the following is deep foundation 1
(a) pad footing (b) raft footing (c) pile foundation (d) strip footing
j) As compared to roadways maintenance cost of railway is 1
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(@) same (b) more (c) less (d) depends on region

For connecting main cities and for routes of importance the type of gauge
adopted is

(@) MG (b) BG (c) NG (d) none of the above

Arrangement made to divert the train from one track to another is known
as

(a) railway crossing (b) railway junction (c) turn out (d) none of the
above

The most commonly used type of metal key is

(a) Stuart’s key (b) spring coiled key (c) morgan key (d) all of the above
The railway station of which a track lines meets a main line is called

(a) way side station (b) junction station (c) terminal station (d) flag
station

Attempt any four questions from Q-2 to Q-8

Q-2

Q-4

Q-7

Q-8

@ >

@ >

Attempt all questions
Explain the working of points and crossings.
Explain importance of road alignments.

Attempt all questions
Explain the methods of surface and sub-surface drainage.

Define stabilization. What are the special circumstances used to describe
stabilization methods?

Attempt all questions
Explain the tool and its functions for the maintenance of railway tracks.
Explain Transition curves and Vertical curves.

Attempt all questions
Explain the construction of water bound macadam road.

What you understand about traffic control by signal, sign, marking?

Attempt all questions
Define: 1) Bridge length 2) Linear water way 3) Affordable span 4) Free

board 5) Vertical clearance 6) Maximum flood level 7) Formation level

Explain types of bearing.

Attempt all questions
Explain the components of the bridge.

Provide the primary information needed for placement of the bridge.

Attempt all questions
Explain about railway gauges.

Write a brief note: 1) Sleeper 2) Ballast
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Q-1

b)

d)

f)

9)

Attempt the following questions:
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Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-5

Q-6

Q-7

Q-8

Attempt all questions

WeSoe A 5RO otl stAl wwudl.

Rcllotl ARWBN e Heccl UM,

Attempt all questions

AW A Vel quUlell Jatosoll ugla axesal.
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Attempt all questions
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Attempt all questions
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Attempt all questions
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Attempt all questions
Yol Ysl AHxAl.
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Attempt all questions
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